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3. The graph below

contains an Euler circuit. Find the circuit using Fleury’s Algorithm or another

method. Number the edges consecutively as you use them. |(12 points)
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4. Semi-eulerize the graph below. Label all the odd vertices cle
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5. The preference tz
the election using

ble below is for the election of a homeown;
the indicated voting method.

ars’ association. Find the winner of

Number of voters 8 9 11 7 7 5
1st choice B A D A B C
2nd choice C D B B A D
3rd choice A C C D C A
4th choice D B A C D B
a. Plurality Method (8 points)
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e. Are any fairness criteria violated? Why or why not? Which ones? (10 points)

o

o ZWMWCMW)

i (Q,,dm,o—&tad’ea’aw“w

e W@[ WWW
(_uwbmfjc]) 070 rwbwd‘nu-ld

6. Use the extendeﬂ Borda Count method on the preference taple below. At Founding of the US
republic, the second place candidate became vice president.| Who is second place in this
election? (14 points)
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7. The city of Raleigh has 9500 registered voters. There are twg candidates for city council in an
upcoming election: Brown and Feliz. The day before the election, a telephone poll of 350
randomly selected registered voters was conducted. 112 said they'd vote for Brown, 207 said
they'd vote for Feliz, and 31 were undecided. |

a. What is the population of this survey? (4 points)
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c. What is the size of the sample? (4 points)
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d. Give the sample statistic for the proportion of voterg surveyed who said they'd vote for
Brown. (4 points)
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Burial Depth and Survival Probability
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a. At about which depth are survival rate and death rate most similar? (4 points)
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10. Below is a data set of exam scores in a computer technology|course.
66 72 54 54 63 68 66 65 89
50 61 50 62 48 63 34 48 50
52 61 69 72 88 82 57 68 42
58 59 67 75 88 90 87
a. Find the mean and the mode (if one exists) (6 points)
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c. Draw a boxplot of the data (to scale) (8 points) 1
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11. A raffle sells 1000 tickets for $20 each, and gives away the following prizes in a drawing: one
first prize of $2500, one second prize of $1000, two third prizes of $100, and five gift certificates
worth $50. Complete the table below and find the expected|value of each ticket. (12 points)
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12. For each of the experimental design diagrams below, identify whether the diagram represents a
randomized design or a block design. Explain your reasoning. (6 points each)
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